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1) PURPOSE

The goal of this Guideline is to provide a standard analytic model to assist in
determining the feasibility of proposed investments in public-private
partnerships and economic development projects by the City of Hampton.

The guidelines are recommended for use by City Council, staff and the
Council established Finance Committee in evaluating all public-private
partnerships and economic development projects. All net present value
(NPV) and cash flow analysis submitted to the Finance Committee for their
review and recommendation shall comply with these guidelines.

The resuilts of the net present value and cash flow analysis should be used
along with other quantitative and qualitative factors in arriving at an overall
decision. The Finance Committee will not evaluate these factors as a part of
their review of the analysis.

A Public Private Partnership (PPP) is a partnership between the public
sector and the private sector for the purpose of delivering a project or a
service traditionally provided by the public sector. PPPs recognize that both
the public sector and the private sector have certain advantages relative o
the other in the performance of specific tasks. By allowing each sector to do
what it does best, public services and infrastructure can be provided in the
most economically efficient manner. The overall aim of PPPs is therefore to
structure the relationship between the public sector and the private sector,
so that risks are borne by those best able to control them and increased
value is achieved for public services through the exploitation of private
sector skills and competencies.

PPPs can involve the design, construction, financing, operation and
maintenance of public infrastructure or facilities, the operation of services,
grants or incentives to businesses for job generation, development and
redevelopment of public land, o meet public needs.
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The financial model is an integral part of the analysis of project finance. It
must be very carefully structured and managed to ensure that the results
are reliable and accurate. For ease of comparison, the coniract should
specify the format and content of the financial model to be provided as part
of the tender submissions. The financial model looks at cash flows over the
life of the project, and is the key tool in assessing the sensitivity of the
financial projections to changes to any of the key assumptions. The output
of the financial model is typically the identification of the financing
requirements of the project, the project cash flows available to service debt
and reward equity, and the NPV of the project cash flows.

In constructing or assessing a financial model, attention should be paid to
certain key areas. This will help to ensure that the model is accurate, and
that the output is a reliable basis for assessment. In no circumstances
should the results of a financial model be accepted without question, as
minor errors can easily occur and result in decisions being made based on
inaccurate information. In terms of the broad areas to be addressed by the
model, some of the critical areas, which will have to be clearly sef out
include: a summary area showing the results of the model; an area setting
out the assumptions underpinning the model, including construction and
operating costs, macroeconomic assumptions, revenue (volume and price)
assumptions, financing structure including terms and costs, taxation,
working capital and timetable; areas showing the profit and loss account,
cash flow and balance sheet implications of all of the above assumptions in
the accounts; an area showing the calculation of the summary resuits, and
project NPV. The following key information should be included in the
financial model:

a. Anticipated Cash Receipts by Year. The major sources of receipts for
each year of the project’s life.

b. Anticipated Cash Disbursements by Year. The major categories of
disbursements for each year of the project’s life.

c. Anticipated Net Cash Flows by Year. The anticipated receipts by year
less the anticipated disbursements by year reflect the anticipated net
cash flows by year.

d. Net Present Value Computations. All anticipated receipts and
disbursements over a project’s life cycle are discounted to the present
using the effective discount rate, and the discounted disbursements are
subtracted from the discounted receipts to yield a NPV. If discounted
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receipts exceed discounted disbursements, the NPV is positive and the
project is worth pursuing. Where two or more alternatives for a project
exist, the one with the highest NPV over an equivalent analysis period
should usually be pursued. Funding availability, perceived risk, policy
issues and other qualitative factors, however, may lead to the selection
of an alternative with a lower NPV.

e. Sensitivity Analysis. Upper and lower limits equal to at least 5% of the
anticipated revenues or expenditures should be established to identify
the sensitivity of the estimates fo unanticipated changes. The
anticipated net cash flows, along with the NPV computations, at these
upper and lower limits should be calculated to identify the range in the
estimates.

a) General Principles

A standard criterion for evaluating whether the City should invest in a
Public-Private Parinership or economic development project is net
present value. Net present value represents the expected net benefits
(benefits minus costs) expressed in today’s dollars. Generally, a positive
net present value means the project generates wealth. Projects with
negative net present value consume wealth and should generally be
avoided subject to other qualitative factors.

Net present value is calculated as follows:

1) The first step is to forecast the expected benefits and costs over the
life of the project (see section 6 “Identifying and Forecasting Costs
and Benefits” on page 6).

2) The second step is to determine the discount rate (see section 7
“Determining the Discount Rate” on page 7) that will be used to
convert the net expected benefits to today's dollars.

3) The final step is to enter all data into the NPV model worksheet and
the results will be calculated automatically.




b) Elements of the NPV Analysis

1. Description of Project- A brief description of the project, rationale for
the City’s proposed participation in the project including the selection
of the private sector party, the proposed dollar amount of City and
private sector investments, the proposed financing required by the
City and private sector and the return expected by the private sector.

2. Assumptions- The analysis should include a statement of the
assumptions, the rational behind them and a review of their strengths
and weaknesses.

3. Evaluation of Alternatives- The analysis should include the
evaluation of achieving the project objectives by examining
alternative investments and/or the different levels of participation by
the City.

FYING AND FOREC
AND BENEFITS

) IDENT
COSTS

Analyses should include forecasts of the expected tangible benefits and
costs over the life of the project or the financing period, whichever is
shorter. If the financing period is chosen, then costs and benefits beyond
the financing period will be shown as residual value. These benefits and
costs should take into account the effect of inflation (unless the discount
rate is converted from a nominal to a real rate).

Expected benefits shall include all direct and indirect taxes and fees .For
purposes of this analysis, residual value or sales value of the project will be
excluded from the forecasts.

Expected costs shall include all costs to acquire, build or improve the
project, operating and maintenance costs, interest costs and opportunity
costs. Opportunity costs are the potential benefits that are lost by selecting
it. For example, if the city sold land to a private developer at a nominal
price for a project, the city would lose the difference between the nominal
sales price and the market value.

Sometimes it is difficult o estimate the benefils or costs because they are
dependent on an unpredictable environment or because the result of a
projection is uncertain. In these cases, use expected value to estimate
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uncertain benefits and costs. Expected value is determined as follows: 1)
list the possible scenarios; 2) estimate the probability of each scenario; 3)
estimate the benefit (or cost) in each scenario; 4) add the expected value
for each scenario to get an expected benefit (or cost).

The forecasts should include a statement of the assumptions, the rationale
behind them and a review of their strengths and weaknesses.

In order to compute net present value (NPV), it is necessary to discount
future benefits and costs. This discounting reflects the time value of money.
In essence, a dollar in the future is less in value than a dollar today.

One of the interesting controversies that has developed in making present
value calculations revolves around the choice of the proper discount rate to
use. The discount rate represents the expected yield rate necessary to
induce decision makers to commit available funds to the subject
investment, given its level of risk. Broken down into its simplest
components, the discount rate incorporates the following elements:

a. Risk-Free Rate. This is the amount that a decision maker feels
certain of realizing over the holding period. The rate generally used is
that rate available on instruments considered to have virtually no
possibility of default, such as U.S. Treasury obligations.

b. Risk Premium. This is the degree of uncertainty as to the realization
of the expected future returns. The risk premium is in addition to the
risk-free rate. In other words, decision makers must expect some
additional rate of return to induce them to invest in an economic
development project and be compensated for the additional risk
incurred in such an investment.

There is no consensus on how governments should determine the discount
rate. There is general agreement that a City would start with the current
general obligation (GO) bond rate. In a Public-Private Parinership, a
weighting factor would be added to the GO bond rate. The upper limit for
the discount rate would be the expected return on the project by the private
party. The difficulty is determining what the weighting factor should be.
There are at least four methods that could be used:




a. Partnership Approach. Apply the percent invested by government
and the private party to each of the respective rates.

b. Risk Approach. Double the GO bond rate to cover the funds needed
for continual service if the project fails. The City's risk is that the
project does not provide the cash flow that was projected to provide
for citizen services and the City has to acquire funds a second time to
pay for such services.

c. Government Approach. Apply the percent invested by ihe
government to the private sector rate to cover the risk incurred in the
project.

d. Cost of Capital Approach. Use the City's GO Bond Rate as the City
does not have the same expectations as the private sector. If NPV
calculation is positive, compare the result with the cost of the
investment.

To ilustrate the differences in approaches, let us assume that the City is
investing $30 million in a project and the private party is investing $70
million. Further, let us assume that the GO bond rate is 5% and the
expected return by the private party is 25%. The expectation is that the
discount rate would be somewhere between 5% and 25%.

Actual Weighting Effective
Rate Factor Rate
Partnership Approach:
GO bond rate 5% 30% 1.5%
Private sector rate 25% 70% 17.5%
Weighted discount rate 19.0%
Risk Approach:
GO bond rate 5% 200% 10%
Government Approach:
GO bond rate 5% 5.0%
Private sector rate 25% 30% 7.5%
Weighted discount rate 12.5%
Cost of Capital Approach:
GO bond rate { 5% | 100% | 5%

It is readily recognized that the higher the discount rate, the less favorable
will be the NPV. Consequently, a weighted discount rate of 19% in the
above example would reflect a less favorable NPV than a 12.5% discount
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rate and the 10% discount rate using the risk approach or the 5% discount
rate using the cost of capital approach would be the most favorable.

In another example, let us assume that the City is investing $80 million in a
project and the private part is investing $20 million. The weighted discount

rate would be as follows:

Actual Weighting Effective
Rate Factor Rate
Partnership Approach:
GO bond rate 5% 80% 4%
Private sector rate 25% 20% 5%
Weighted discount rate 9%
Risk Approach:
GO bond rate 5% 200% 10%
Government Approach:
GO bond rate 5% 5%
Private sector rate 25% 80% 20%
Weighted discount rate 25%
Cost of Capital Approach:
GO bond rate 5% 100% 5%

As this example illustrates, a significant investment by the City may result in
a weighted discount rate equal to or greater than the private sector rate if
the government approach is used. Whereas the partnership approach will
result in a discount rate slightly higher than the GO bond rate and the risk
approach will be abouf the same in this example. The cost of capital
approach would be the most favorable with a 5% discount rate.

For purposes of this type analysis, the discount rate will be considered a
nominal discount rate. A nominal discount rate represents a rate that
reflects expected inflation. Thus, the costs and benefits shouid be
measured in nominal terms.

When there is some uncertainty about the rate to be employed, a
computation of the critical rate is sometimes helpful. The critical discount
rate is that rate at which NPV of the project being considered changes sign
from negative to positive. If the critical rate is either sufficiently high or
sufficiently low, the analyst is spared the agony of setting a single best
discount rate. Suppose that the critical rate is 15%, and NPV is greater
than O for any rate less than 15%; the decision maker and analyst might
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then agree jointly that, while they do not have great confidence in any
particular rate, the proper rate is surely less than 15%, and the project is
worth pursuing.

Sensitivity analysis measures how sensitive the result of a net present value
analysis is to a change in one of the variables (i.e. discount rate). For the
purposes of this NPV analysis, the sensitivity analysis should include the
recalculation of NPV at varying discount rates and for the worst-case
scenario (i.e. project will only generate 60 % of the expected benefits over
the life of the project).

In the event that the risk-free rate (GO Bond rate) is used, then benefits and
costs must be subjected to sensitivity analysis.

EPORTIN

it is important to determine how well the expected benefits and costs are
tracking with the actual results. This helps staff to improve future forecasts
and to determine the financial effectiveness of the project.

In most instances, the Commissioner of Revenue’s staff must compile
project revenues for projects. The Commissioner of Revenue will not
disclose information for any single business entity. In addition, the type of
revenue (i.e. business license, personal property taxes, etc) may not be
disclosed. Thus, if a project is related to one business, the revenues will
have to be estimated.

Staff should submit quarterly reports comparing actual to estimated benefits
and costs to the Finance Committee in the designated standard format.

Cost is never the only reason to use public-private partnerships. Many
qualitative factors must also be considered but they are not a part of this
guide.




The second highest reason is the access to specialized expertise and
proprietary technology. As generalists, governmenis cannot afford to
provide or maintain such know-how in-house, especially in the area of
information and communication technology. The laboratory of the
competitive private sector accelerates change to a rate that cannot be
matched in the public sector. Even in other more traditional areas, like
environmental control systems, the private sector develops advanced
techniques that are better left fo their proprietary owner to operate, even if
the new technology is installed by the public sector on its own. This is
related to another key benefit of partnerships: the sharing of risks with the
private sector. In developing complex projects, the private sector can
guarantee fixed or maximum prices for construction and eventual operation
of systems, relieving the government of its open-ended financial risk in
those areas. A private provider can also guaraniee the effectiveness and
efficiency of the technology it installs, giving public agencies access to such
technologies without innovation or performance risk. In some cases, as with
concessions, the private provider can even relieve the government of
market risk or rate/pricing risk. In most cases, all the risks in a partnership
can be distributed among the parties by having the party best equipped to
handle each of them take on that responsibility. Lasily, use of the private
sector can help governments to address sensitive political and labor issues.

The third highest reason for public-private parinerships is to accomplish
objectives when the city government can not directly take on an issue. With
the flexibility and efficiency of private developers and operators, the public
can sometimes enlist the private sector to handle more easily problems
such as downsizing, coordination of political entities, regionalization,
implementation of difficult policies and cross border relationships.




APPENDR{ A: DEFINITION OF TERM

4)

5)

7)

9)

10)

11)

12)

13)

Benefits- Tangible revenues expected to be generated by the project for the
City. The revenues will be recognized on a cash basis.

Costs- Amounts paid by the City to acquire, construct, improve or operate
the project including opportunity costs.

Discount rate- The rate used in calculating the present value of expected
benefits and costs. Generally, this will have some relation to (but will not
reasonably be equal to) the private partner’s cost of borrowing funds.

Government obligation {GO) bond rate- The bond rate associated with the
latest GO bond issue.

Inflation- A general increase in the price level over time.

Net present value (NPV)- The value (in today's dollars) of the expected
whole-life-cycle value of providing, maintaining and operating the activity in
question, together with operating and relevant associated services,
expressed as a figure in today's dollars by discounting all future payment
obligations at the Discount Rate.

Nominal interest rate- An interest rate that is not adjusted to remove the
effect of expected inflation.

Private partner- The private sector partner selected through a competitive
procurement process to provide the contractual service to the public partner.

Private partner desired profit rate- The rate of profit that a private partner
desires from their investment.

Project life- the shorter of the useful life of the project or the financing period
for the debt.

Public private partnerships- A generic term for projects involving both the
public and private sectors (with varying levels of involvement and
responsibility).

Residual Value — The expected value of a project, structure, or other entity
upon which NPV is being projected, after the term of the NPV structure.
Such residual value may well include the costs and benefits that may accrue
after the NPV term.

Real interest rate- An interest rate that has been adjusted to remove the
effect of expected or actual inflation.
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14) Sensitivity analysis- A technique for evaluating the NPV results by changing
assumptions and/or the discount rate.

15)  Sunk cost- A cost incurred in the past that will not be affected by any present
or future decision. Sunk costs should be ignored in determining whether a
project is worthwhile.

16) Weighting factor- The weights applied to the GO bond rate and the private
partner desired profit rate in order to compute the effective discount rate to
be used in determining the net present value associated with the project.
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Project Summary

The City of VT plans to redevelop part of their downtown. The goals are to
strengthen the downtown area and to optimize the value of underutilized real
estate assets. Two sites are existing City-owned surface parking areas, one site is
the air rights of an existing City-owned garage, and one site is to be acquired from
a potential tenant in the proposed development. The proposed developments have
been organized into six public projects and three private components. The total
development cost of the public and private development components is $82.3
million. The Developer has indicated that he expects to earn a 25 percent return
on this project.

Development Scope

The three commercial developments include retail at the street level with market
rental and/or condominium housing above. The Lot 2 site includes retail space at
the street level, a transit transfer center and housing above the retail. The
estimated development required to finance, design, develop and construct the
private development components is $64.6 million. Twenty percent of each private
development includes affordable housing units.

The public projects include replacement parking, the transit transfer center, a city-
owned garage and a second —level pedestrian bridge. The total development costs
for the public component is $17.7 million.

The City of VT will lease land to the developer for a $1 per year. This land was
recently appraised at $ 4.5 million.

The City has issued 20 year General Obligation Bonds at an interest rate of 5.25
percent to finance the public projects.

The City has forecasted that it will generate $51.8 million in real estate and sales
taxes over twenty years and a positive cash flow of $16.5 million.

See results of the Analysis on the following worksheets:

»  Summary Cash Flow and Net Present Value AnalySis ... Ct
= Net Present Value Analysis (Government Approach).......inninnsees C2-C5
»  Supporting Worksheet for Benefits.......ccinnicnn e C6-C8
= Supporting Worksheet for Costs ... C9-C12
= Sensitivity Analysis (Government Approach}......cueeeeercncnensisnancsinemnnn, C13

Net Present Value Analysis — Summarized by Approach.........cvvvcnnicincnnens c14
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